"ONI VZHOM SOINVYNAQ X3dY

w
SN

- n** APEX DYNAMICS KOREA INC.

AE/AER Series

e Planetary Gearboxes
e High Precision
e High Speed

High Precision
Planetary Gearboxes :'::'




Series

Gearbox Performance

Model No. Stage | AE050 | AEO70 | AE090 | AE120 | AE155 | AE205 | AE235
3 20 55 130 208 342 588 1,140
4 19 50 140 290 542 1,050 1,700
5 22 60 160 330 650 1,200 2,000
1 6 20 55 150 310 600 1,100 1,900
7 19 50 140 300 550 1,100 1,800
8 17 45 120 260 500 1,000 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500 a =
15 20 55 130 208 342 588 1,140 % >
20 19 50 140 290 542 1,050 1,700 ° 3
Nominal Output Torque Tay Nm 25 22 60 160 330 650 1,200 2,000
30 20 55) 150 310 600 1,100 1,900
35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
2 45 14 40 100 230 450 900 1,500
50 22 60 160 330 650 1,200 2,000
60 20 55 150 310 600 1,100 1,900
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
Emergency Stop Torque Tanor* Nm 1,2 3~100 3 times of nominal output torque
Nominal Input Speed niy rpm 1,2 3~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed nig rpm 1,2 3~100 | 10,000 | 10,000 | 8,000 8,000 6,000 6,000 4,000
; 1 3~10 <8 <8 <8 <8 <38 <38 <8
Backlash M 15~100 L=< 12 [ =12 | =12 | <12 | <12 | <12 | <12
Torsional Rigidity Nm/arcmin| 1,2 3~100 3 7 14 25 50 145 225
Max. Radial Load Fas? N 1,2 3~100 702 1,377 2,985 6,100 8,460 | 13,050 | 8,700
Max. Axial Load Fzas? N 1,2 3~100 390 765 1,625 3,350 4,700 7,250 18,000
Service Life hr 1,2 3~100 20,000°
- 0 1 3~10 = 97%
Efficiency 5 i 2 | 15-100 > 4%
Weight kg 1 3~10 0.6 1.4 8% 6.9 13 31 53
2 15~100 0.9 1.6 4.7 8.7 17 89 66
Operating Temp® o) 1,2 3~100 -10°C~+90°C
Lubrication 1,2 3~100 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 3~100 IP65 (Option IP67)
Mounting Position 1,2 3~100 all directions
Noise Level(n=3000 rpmNoLoad) ~ dB(A) | 12 | 3~100 | <56 | <5 | <60 | <63 | <65 | <67 | <70

Gearbox Inertia
Model No. Stage | AE050 | AEO70 | AE090 | AE120 | AE155 | AE205 | AE235

0.03 0.16 0.61 3.25 9.21 28.98 69.61
0.03 0.14 0.48 2.74 7.54 23.67 54.37
0.03 0.13 0.47 2.71 742 23.29 53.27
0.03 0.13 0.45 2.65 7.25 22.75 51.72
0.03 0.13 0.45 2.62 7.14 2248 50.97
0.03 0.13 0.44 2.58 7.07 22.59 50.84
0.03 0.13 0.44 2.57 7.04 22.53 50.63
0.03 0.13 0.44 2.57 7.03 22.51 50.56
0.03 0.03 0.13 0.47 2.71 7.42 23.29

-
©|0o| ||| [ 0o Lo NN [ =
SloIo|o|ootn ot S| S [;r[o|©|R N (@301~

Mass Moments of Inertia J1 Kg - cm? 0.03 0.03 0.13 0.47 2.711 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.47 2.71 742 23.29
2 0.03 0.03 0.13 0.47 2.71 7.42 23.29
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
0.03 0.03 0.13 0.44 2.57 7.03 22.51
1. Ratio(i=No/Nou) 2.7|% - 8% S0 ot |2 SHLE 100pmo|st, 2HZA met 4= HA = 920 Page 41 3%
3. 247| HELL : 10-00%, Z47| FHRE 0-40% 4. Z{C§7HSE Tos = 60% Of Tavor

5. Service life 10,000hrs (S1:93&2M 7J)

35



w
»

"ONI VZHOM SOINVYNAQ X3dY

C9

L2

L8 8

L3 L1

Cc11

L7

C10

@D7
D8
@D4 1
D5
|
I
I
|
\4‘4
I
|
=
:%ﬁ:
ac3
@D9
@C5

L

C4

B1 o L6 L5
.
= 5,
T 47'@;!:!7 5
D6 L9
D3, L10
[unit:mm]
Dimension
D1 44 62 80 108 140 184 210
D2 M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M16 X 2P
D3 12 16 22 32 40 59 75
D4 e 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 58 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
D9 455 53.4 77 102 125 160 205
L1 — — B85 38 50 — 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28
L8 47 62 80.5 97 119.5 159 175.5
L9 4.5 4.8 72 10 12 15 15
L10 10 12.5 19 28 36 42 42
C1* 46 70 100 130 165 215 235
C2¢ M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
C3* <11/<12 <14/ <16 <19/ <24 <32 <38 <48 < 55
C4* 30 34 40 50 60 85 116
C5* 30 50 80 110 130 180 200
C6* 815 8 4 B 6 6 6
C7* 48 60 90 115 142 190 220
Cc8* 19.5 19 17 19.5 22.5 29 63
C9* 91 117 143.5 186.5 239 288 364.5
C10* 13.25 13.5 10.75 13 15 20.75 588
c11! 19.5 37 8515 46 688 79.5 106.5
B1ho 4 5 6 10 12 16 20
H1 14 18 24.5 89 43 59 79.5

1. AE050ZtH] 1/59} 1/100] 33 C3=12mm optinal2 &2
3, AE0900jjA| C3=24mm optional2 X3, Bt A& 2HZ(S1 condition)oAl= AL oS 22t

4. C1~-C112 HE2E{of| w2}t CHEUCH ZAL S 0]X| www.apexdynakorea,co kri2 H&otAl2 Design Tools 0| Esto] X|+=E oIt 4= JELICH

2. AEO70LSH| 1/594 1/100f 8FA5H C3=16mmS optionalZ X &



C9

L2 L8 cs8
L3 L1 c11
L7 Cc10 Ocr
4
=0 R
] |
7" 45°
288 ==l ([{| || |'1ge
(| 8
Q .
i — 45
\_
[ cé
c4
B1 e L6 L5
-
O
- ey
D6 L9
@D3 Ll
[unit:mm]
Dimension AE050 AEO070 AE090 AE120 AE155 AE205 AE235
D1 44 62 80 108 140 184 210
D2 M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M16 X 2P
D3 12 16 22 32 40 56, 75
D4 1e 85 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 58 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
D9 455 455 53.4 77 102 125 160
L1 — — 8815 38 50 — 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 8 8
L5 14 25 32 40 63 70 90
L6 2 2 3 & 5 6 7
L7 8 10 12 16 20 22 28
L8 74 87.5 113.5 138.5 176 214.5 260
L9 45 48 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
C1° 46 46 70 100 130 165 215
Cc2° M4 X 0.7P M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
; <14/ .
C3° <11/<12 <1/<122 < 15875/ < 16° <19/<24 <32 < 38 <48
C4° 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
c6° 88 515 8 4 5 6 6
C7° 48 48 60 90 115 142 190
C8° 19.5 19.5 19 17 19.5 22.5 29
C9° 118 143 178.5 2255 292.5 337 415
Cc10° 13.25 13.25 13.5 10.75 13 15 20.75
C11° 19.5 19.5 37 8515 46 o815 79.5
B1 no 4 6 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5

1, AE050 C3=12mmg optionalZ * &

3, AE090 C3=15.875 & C3=162 optionalZ X3

2, AE070 C3=12mmE optionalZ X3

4 AE120 C3=24mmS optional2 |2, £t g1
x

5, C1~C112 M2 2Fof w2} ChEL|Ct, 2AF ZH|0[X| www apexdynakorea,co krZ 51412 Design Toolg 0]S3}0:

37

sales
¥3av/av




w
©o

"ONI VZHOM SOINVYNAQ X3dY

AER Series BESXLlile111

Gearbox Performance

Model No. Stage i'| AER050| AERO70 | AER090 | AER120 | AER155 | AER205 | AER235
3 9 36 90 195 342 588 1,140
4 12 48 120 260 520 1,040 1,680
5 15 60 150 325 650 1,200 2,000
6 18 88 150 310 600 1,100 1,900
1 7 19 50 140 300 550 1,100 1,800
8 17 45 120 260 500 1,000 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
14 - 42 140 300 550 1,100 1,800
20 - 40 100 230 450 900 1,500
15 14 - - - - - -
20 14 - - - - - -
Nominal Output Torque Tay Nm 25 15 60 150 325 650 1,200 2,000
30 20 55) 150 310 600 1,100 1,900
35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
45 14 40 100 230 450 900 1,500
50 14 60 100 230 650 1,200 2,000
2 60 20 55 150 310 600 1,100 1,900
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
120 - - 150 310 600 1,100 1,900
140 - - 140 300 550 1,100 1,800
160 - - 120 260 550 1,000 1,600
180 - - 100 230 450 900 1,500
200 - - 100 230 450 900 1,500
Emergency Stop Torque Toor* Nm 1,2 3~200 3 times of Nominal Output Torque
Nominal Input Speed niy rpm 1,2 3~200 | 5,000 5,000 4,000 4,000 3,000 | 3,000 2,000
Max. Input Speed nis rpm 1,2 3~200 | 10,000 | 10,000 | 8,000 8,000 6,000 6,000 4,000
. 1 3~20 <10 | <10 < 10 < 10 <10 | £10 < 10
Standard Backlash aemin o 1 25~200 | <14 | <14 | <14 | <14 | <14 | <14 | <14
Torsional Rigidity Nm/arcmin| 1,2 3~200 3 7 14 25 50 145 225
Max. Radial Load Fas* N 1,2 3~200 702 1,377 2,985 6,100 8,460 | 13,050 | 8,700
Max. Axial Load Faz.s N 1,2 3~200 390 765 1,625 3,350 4700 | 7,250 | 18,000
Service Life hr 1,2 3~200 20,000°
= > 0
Efficiency n % ; 22~§80 ; 3202
Weight kg 1 3~20 1 2.1 5.8 11.2 224 46.8 78
2 25~200 1.3 2 4.6 111 21.8 43.7 81.9
Operating Temp® T 1,2 3~200 -10°c~+90°C
Lubrication 1,2 3~200 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 3~200 IP65 (Option IP67)
Mounting Position 1,2 3~200 all directions
Noise Level(n;=3000 pmNoLoad)  dB(A) | 12 | 3200 | <61 | <63 | <65 | <68 | <70 | <72 | <74
Gearbox Inertia
Model No. Stage | AER0O50| AER070| AER0O90| AER120| AER155| AER205| AER235
3~10 0.09 0.35 2.25 6.84 234 68.9 135.4
1 14 - 0.07 1.87 6.25 21.8 65.6 119.8
20 - 0.07 1.87 6.25 21.8 65.6 119.8
Mass Moments of Inertia J1 kg - cm? 15 0.09 - - - - - -
20 0.09 - - - - - -
2 25~100 0.09 0.09 0.35 2.25 6.84 234 68.9
120~200 - - 0.31 1.87 6.25 21.8 65.6
1. Ratiofi=Ne/Nos) 2, 7|% : £8% F7tofl St Ze| 1 ZHEE 100pmolst, 2MZA| w2t £A= HAE = 9o Page 41 X

3, 2447| RELE : -10~90%, Z47| FH T 0405
5, Senvice life 10,000hrs (S1:914 2HZE7)

4 %

CH7HSE S Toe = 60% of Tanor



L8

L2 L1

L3 L7

38— *
3
ol 5 & @c1
Bl L6 L5
I {0
"l os L9
D3 | L10|
[unit:mm]
Dimension AERO050 AERO070 AER090 AER120 AER155 AER205 AER235

D1 44 62 80 108 140 184 210
D2 M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M16 X 2P
D3 12 16 22 32 40 99 75
D4 e 89 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 58 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
L1 — — 8815 38 50 — 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 8 3 3
L5 14 25 32 40 63 70 90
L6 2 2 8 B 5 6 7
L7 8 10 12 16 20 22 28
L8 115.5 146 201 252 3245 379.5 461.5
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
Cc1* 46 70 100 130 165 215 235
c2* M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
C3* <11/<12 <14/ <16 <19/ <24 <32 < 38 <48 < 55
C4* 30 34 40 50 60 85 116
C5* 30 50 80 110 130 180 200
C6* 815 8 4 B 6 6 6
Ccr* 48 60 90 115 142 190 220
C8* 19.5 19 17 19.5 22.5 29 63
C9* 100.5 116.5 159.5 199 2455 316 398.5
Cc10* 13.25 13.5 10.75 13 15 20.75 555
c11* 74 81.5 107.5 134 164.5 213.5 268.5
B1no 4 B 6 10 12 16 20
H1 14 18 24.5 5 43 59 79.5

1, AER050 C3=12mm& optionalZ &
3, AER090 C3=24mmE optional2 &2, &

2. AER070 C3=16mmE optionalZ M=
122X 7% 74(S1 condition) A= ALRAF F0|E @Ot
4, C1~C112 H2E{0j| w2} CHSL|ct, 2A} Z|0]X| www apexdynakorea.co ki H&5AI% Design ToolS 0|23101 X|4E ol 4 QL)

39

sales
¥3av/av




Z=£H|(Ratio) i=25~200)

L8

L1

L7

aoc7

-
—
i B
Sl 1| — R — 5 T '
- T
L - - o oC1
| 35 L 1 c2
{8 8
C3 g
@C5
B1,, L5
I {0
D6
oD3, | L10]
[unit:mm]
Dimension AER050 AERO070 AER090 AER120 AER155 AER205 AER235
D1 44 62 80 108 140 184 210
D2 M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M16 X 2P
D3 12 16 22 32 40 09 75
D4 1e 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 58 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
L1 — — B85 38 50 — 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 B 5 6 7
L7 8 10 12 16 20 22 28
L8 142.5 167.5 207.5 283 358 422.5 506.5
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
C1° 46 46 70 100 130 165 215
Cc2° M4 X 0.7P M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
s : , <14/ y
C3 < 1M1/<L 12 < 11/<L 12 < 15875 /< 16° <19/ <24 <32 <38 <48
C4° 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6° 815 B15) 8 4 5 6 6
Cr® 48 48 60 90 115 142 190
C8° 19.5 19.5 19 17 19.5 22.5 29
C9° 100.5 109 133.5 172.5 215 267 343.5
Cc10° 13.25 13.25 13.5 10.75 13 15 20.75
C11° 74 74 81.5 107.5 134 164.5 213.5
B1 o 4 5 6 10 12 16 20
H1 14 18 245 85 43 59 79.5

"ONI VZHOM SOINVYNAQ X3dY

H
o

1. AER050 C3=12mm$ optionalZ X
3, AER090 C3=15875 & C3=162 optionalZ X2

2. AER070 C3=12mm& optionalZ X2
4, AER120 C3=24mmg optionalZ X3, £t HL2HZE71(S1 condition) KM= A4 FOIE 2
5. C1~C112 HE2E{of| wz} CIEL Ch ZAF & 0|X| www.apexdynakorea,co ki H&5HAIS Design ToolS 0[&3}0] |5

ol

LR



Z<7| E8= Ylo|CIE A

ol1E5l5

100,000
60,000
Zz 40000
e
&< 20,000
Lo
T =
gg 10,000 — :
i} AE205 /| AER205
s& 6000 — & AF235/AER235
Tg 4000 AE155 | AER155
-1 ®~ AE120 / AER120
T 2000°% [T —
£ ~——_ AE090/AER090
E8 1000 gy
— AE070 / AER070
£3 ~“\\ T
~—
) 500 ~—_/ AE050/ AER050
10 20 40 60 100 200 400 600 1000 2000
1}-X— Output Speed n, [ rpm ]
FZr!} ]
Frez Faa D%
2a2 "2a1 Ao 1 I \
F, Radial Load
F,, Axial Load i
14
a2 AE050 / AER050
< 12 AE070 / AER070
=
,g 1.1 AE090 / AER090
& 1.0 AE120 / AER120
k] 0.9 \ \
o g AE155 / AER155
- !
s 07 ; g zﬁ% / AE205 /| AER205
'g 05: < "\ AE235 /| AER235
o 05 A %&Q\L
04 N T~ ~—
03 r —
0 40 80 120 160 200 240 280 320 360 400
Position X [ mm ]
L olol © ol o] OAA = o TS
S| Datac L RTA[IHOAIN O LHAOI RTMARIECIH MR I 1g3s
oo = A O ARl A=A 0|A O|2 HO Z=HJ 9o
B2 ZHA NFO| £HEAFS fAE "E-r malt. ClgEe -o-z._f Mg

AelHZ o5 ()0l 65
FNOI eNICH
X=1/2 x L °I g4t

= B
re mx Jp
W]

30 rlo
o>
L
fin}

Tt

4> o i 1

H1
W e
lot

=2

B

i

: |

0

sigaeIriy
BN 22!

B
H1

ng o

Aolc BA5F, )°| 535
FUOIN oo 287 %48
Aolci iFS WAl B2l
ALEE,

o8 Aol oFY AN
LB UL AL IEL T

4 B4,

YAMAE ARCEAN Zorg
2 Yeun,
B Hole o} ZEES ol

Lt HO

H 3% N2 AR B2

Y,

PiL 287 E23

HESIAIT| HEYD.

Front plate option

L3

@D4ne
|
|
|
i

L2

L4

[unit: mm]

Dimension
AE050(AER050)-NEMA 23 66.675 6 77 38.1 57.2 2
AE050(AER050)-PX60 70 5.6 80.5 50 60 2.5
AEO070(AER070)-Metric 90 6.6 106 50 80 3
AE070(AER070)-NEMA 34 98.425 5.6 115 73.08 86 2.5
AE070(AER070)-DT90 / PX90 100 6.6 120 80 90 3
AE090(AER090)-IEC 63D5 B5 115 9 140 95 105 3
AE090(AER090)-NEMA 34 98.425 5.5 122 73.025 92 2.5
AE090(AER090)-DT90 / PX90 100 6.5 122 80 92 2.5
AE090(AER090)-NEMA 42 125.73 7 144 55.58 107 4
AE120(AER120)-NEMA 42 125.73 7.1 170 55.499 127 1.5
AE120(AER120)-NEMA 56 149.225 6.6 170 114.3 127 3
AE155(AER155)-B5 175 11 196 130 160 5
AE205(AER205)-B5 230 13 277 180 210 5
AE235(AER235)-B5 275 17 317 235 240 5

8 18.5
8.5 18.5
11 28
8 30.5
8 31
10.5 38.5
12.5 36
12.5 36
14.5 35.5
21.5 50
17.5 55.5
20 82
23 82
23 108

41

sales
¥3av/av




AN
4a&7 MY

S5 $1

HES 28 ! pu |
Cycle Operation Continuous Operation
YES ED<60%
wo,k<20m|ns

UM B i (Eq2) BaH ¥ (Eq2) |

T =M E3 YN Bz 28 E3 Wi

Tam (EQ.3) Tom (EQ.3)

A pE E3 WM
Tomax (EQ-4)

B2 A8 |_NO  Tomus<Tuo NO B 2
Ay Ton<Ton \TTy_' q
]
YES
v
& ¥HAT (1,)8 WY ) YES
(Eq.5)

A B NO ) -
4&H 23 *@ Tio: Tons Ny 2 2 2 ALLEOIA Ol

YES
i
FaoIEsF (F,,,) & BREHNF(Fyn)2

Wt (Eq.6)

|

o8 AACLAT(F,y) & H8FAF(F)E | £ ¢
o

‘ |

F2rm<F2rB N O,
F23m<F2a

YELS
RISt Koy 95 el |
}
I =1

s |

L
447

Recommended (for S5 Cycle Operation)
The general design is given for

J
i—st4xJ,,,

The optimal design is given for
Joo

i_zL =J,

J, Load Inertia
J.. Motor Inertia

"ONI VZHOM SOINVYNAQ X3dY

i =S
N

Klo F2ra FZaa
© F2rc‘F ereees I—l-—_________l

A Fer ) FZap
K

Motion Profile

P
0 T
A Toe .

T |

2ac

1 1 1
F2rd ) FZad ;
N2a
t(:y(:le
Time

2 2431 Cyole® EHEAIZI0] 60%0lARi
- TEAIZI0| 2028 Tt
- 312 ZSAIZI0| 20AI2H2 Zakey

t+rt+t
1.ED=—2——%x
cycle

Index : a. Acceleration, c. Constant,

100%, t o =ty + to +

d. Deceleration, p. Pause (Eq.1)

n
2. i= —m
nwork

Ny, Output Speed of the Motor
Nyork Working Speed (Eq.2)

3 3 3
NpaXtaXTon +Np Xt XTop +NpgXt X Ty

3 Tom=3 NoaXta*Nycxto+nyy*ty
(Eq.3)
4 Tomax =TmeX i X ks> 77
where K; is
Ky No. Of Cycles / hr
1.0 0~ 1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2,000 ~ 3,000
1.8 3,000 ~ 5,000
To.e Max. Output Torque of the Motor
7 Efficiency of the Gearbox  (Eq.4)
5N, =n,, =—1-xn
2a 2d 2 2c
no = _M2a*ta® Ny tetnyg X iy
2m n ta i tc i td
oy = (Eq.5)

3 3 3
2ra +n2cxtch2rc +n2dxtdxF2rd
NoaXta+NocXtoHNag Xty

n,, xt xF

6. Form=

3 3 3
nZExtaxFZaa +n20xtcx F2ac +n2dxtdxF2ad
Naa Xty Ny Xt +nyyxty

o
It
2w 2%

(Eqa.6)



Ordering Code

o VIOTOR

AE090 -_—

>
¢ m
3 m
o
Gearbox Size: Motor Designation:
AE050,AEQ070, AE090 Manufacturer type
AE120, AE155, AE205, AE235 And Model
Ratio:

1 Stage: 3,4,5,6,7,8,9, 10
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 80, 90, 100

Ordering Example: AE090-010 / SIEMENS 1FT6 041-4AF71

AER Series

AERO050 —_— 010 - MOTOR

Gearbox Size: Motor Designation:
AERO050, AER070, AER090 Manufacturer Type
AER120, AER155, AER205, AER235 And Model

Ratio:

* *
1 Stage: 3,4,5,6,7,8,9, 10, 14, 20
2 Stage: 25, 30, 35, 40, 45, 50, 60, 70,

Kkk  kk kk kk k%

80, 90, 100, 120, 140, 160, 180, 200
* AEROS00IAM = 25t 252
*» AER050,AER0700I = & E¢tE
Ordering Example: AER050-010 / SIEMENS 1FT5 034-OAK71

m SH0|X|E YESIAIH X2 ASE =ele + ASLICL

=

43



AE/AER Series

"ONI VZHOM SOINVYNAQ X3dY

F =N
i =N

Characteristic Highlights

True Helical Gear Design

71012t HES0| AH7[0 CHH| 33%014
=0t E3 S =2+ UB.

0| HalA AIPRE HHHE WERIME
B0 £8% 25l

backlash (less than 8 arc-minutes and < 56dB)

Solid uncaged needle roller bearingsS Xg
Ut Z7iof| Z|chst ol LISHoRg XE
12 1E3 NASO| ARSI,

HeliTopo technology2 ME5t =2 7|0{8s52 7IRL
7104 CrowningS Sall 7|0] XE&ignt QHHUS A[XStAIZ,
012215l 7|0{ EH HEES ristAl7 EIE2 S

SAL0ll Plasma nitridingZxiz2| &H|E XIHES

710f MEA=E 30 HRCZ RXIGHHA 7|0{EH B=S
900HVZIX| =04 LHDt=A 3 LIS &S SAl0l SCHAIZ
EESH X2 Hxj2| walol2t EXzlE HEo| So| He

One piece planet carrier with extended bearing design Patented sealing system
20|C|Y of5 8S SCH3E Al7 |1 A|ARIC| FEot QUM SR SE0f TICN ZEXZIE 510 Ot 2ES =0 22235
d8S Iosk AlZL HiXletn ~HS 2oiskeh(@E : 3700Hy, & : Ra0.2um)



APEX DYNAMICS KOREA INC.

Patented planet carrier design
7101 Hio{EZ Sz ARt HXINZSZA
710{2| 2HiES F0 =2 FUCE 2=

seues
¥3av/av

Triple split collet with dynamic balanced set collar
clamping system 2 tiaf4] Sraigl=

SHS Mol SEHNS ATs| MAE,

ESH00%2] SAE SHZ &2 QHar M=

&5 RES BEE,

NS HERER
Nyogel 792D(Smart Grease)2
AIE510d RU+RE HWRlstn
SAES7L HokS

AER Series

AERZHZ AMO[E HE7|0E XME2t Angle 7122 ZOIE
B2 S o 2E0f= ST U= DHEIRTE ME.

45



